=7 &

T U N I N G

S$2000 Oil Pan Baffle Plate Installation Guide

EERY FHFRIDEEEE Precautions before installation

IVDURKEI VD ODTRITHEATNS LR LI ETHEEZRO TN,
Please start working after engine, engine oil, and oil pan are cool enough to work with.
HREZEIFTEXRT S EREZLIFADICHABEDLEVMERTIT>TLZ &L,

When raising the car for installation, please make sure all safety precautions are taken to prevent accidents.

BE/AN—Y

B A

SUS304 t=1.2 Baffle plate
Collar Long A
Collar Middle B
Collar Short C

Collar extremely short
Bolts M6-90 A
Bolts M6-50 B
Bolts M6-45 C
Washer

Spring washer

SIS IS NN,




Engine side Color Long A
! Color Middle B

RYFIFTLESL,
Please to install so that the color center will be straight
as shown on the left.

T

! Color Short C
* EREDL3ICHST—DEIE—IERICHESELSIC

Color extremely short

pic 2 (A/C Braket)

pic1l

@ IUvPURTRITAZFELEL. IUPUOLEETRLVTTELY,

After engine has cooled, drain and remove all engine oil.
@ LEBEEOXHOARIL F(pic))ZEIZHL, FDHRO I L/IAVEAETEOMeRIL FELTEDTLESL,

Please remove the bolts (pic 1) first, then loosen all the M6 bolts at the bottom of the oil pan body.

*BigfGlE & L TTEOMERIL FEROT-IKETHAK T LZ2HB8OLET,

* It is recommended to leave several pieces in place so that the lower M6 bolt is loosened to prevent pan falling.
® A/ICTSHy b (pic2) [F3FARIILFERMYSHLTLEELY,

Remove the three bolts of the A / C bracket (pic 2).



pic4
OILAVESNL, ToooTavI TFHEIZMANTLS V=M EHKEBICHREM->TT LY,

Remove the oil pan, and wipe off any remaining seal at the bottom of the engine block,
FEERENOM6eRIL FEIAEALTTELY,

Please remove 4 M6 bolts in the upper photo arrow.




Q @

®

&)

MHIZ7AY FEE (Collar B) Z{R{FIFL (picé pic7). Y HMl (Collarc) Z#MYMFIFTLEELY,
Please temporarily attach the right front side (Collar B) at first,and then attach the rear right side (Collar C)
ZTOHRERADS— (CollarA) ZEY T, aREHERMIT GREEHHEE) LTLESLY,
Then attach to the left side collar A lightly (As much as the plate moves lightly)

<

>

pic9 pic 10

RFHFRIZO T LISVEGEDE oD BCELKADDOMNEHERLTTEL, (picI picl0)
Please check whether the oil pan body fits without interferance. (Pic 9 pic 10)

g 4

pic 11 pic 12

BIREAECO I LAV CENHERBHEELILL, BEOI LIAVENLEHOIE AL £
Tighten the bolts with the specified torque in the baffle plate.
BERLIICTHDHTFTTEL.  (picll)

ZDHRO I LIRNBIED L —IHEZYO I LIAVEKERE FLIICTRMYRIFTLESL, (pic12)
Please apply seal material to prevent oil leakage and specified tighten the oil pan body.
RILFEBUMTEL. HEEDO I LEANRTRANLZLHOHERLTTSULY,

Please put on of Bolts etc, then please add the specified amount of oil and check for leaks.



